N
~

N
N

|III|III|III|III|III|III|III|III|III|III|III|H

. .;-

: f
wal |

I/

ol

T

N

1/N,, dN, /d mean p_[GeV]"
=
oo

Ratio to ATLAS

3000 GeV pp Z+Je
S B I T

I T I T I T I T | T I T I T I
<pT> (ATLAS UE in Z production)

B ATLAS
—A— Pythia 6.428 370
Pythia 6.428 default
—— Pythia 8.201 default

|||||||||||||||||||||||||||||||||||||||||||||
Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

; A T | T T T T | T T T T ;
— 42
- A =
- W .
B \‘3 \;:3_4-4‘—5‘\\ B 1
- D VK 77 i e N N
| Slva & ar et
| —0.5
| L 1 L 1 L 1 L 1 L | L 1 L 1 L 1 L 1 L
1 2 3

Mean pT/dr] do



	Contents
	Page 1


